RUTEE /\NR (ER) SRR (B3 « HPAD

6 B 7 B
B H;é%ﬁ‘ﬂ%%l R FRITS 8 HE’%‘E‘H%% R FRITS
1@ 2f® 18 2f®

118 1 | N[ 74256 | 12:30 | 1545 |1zmksa

2 |B|74256| 1650 | 1830 [BEF=E3 ™ I o x| 1 | 1820 | 1745 [13mre=

3wl » 1550 I 3|K|l n 14:50 T =5 S

4 K " 1650 ] 4 |& 1 1" 1" BRIEE (5IR

5|A&| n Z z 5|t| » |14:00 | 1630 [EHEE 55

6 |& 1 15:50 1 BLEEE 6 | B 1 13:30 EBHEE, (35) 5C

7\t B 7 |B| 74256 | 1450 | 1745 |#BuzE (51

8|8 LS 8| N 1 1 1 BRIEE (SR

9 |B|74256| 1650 [ 1830 |@ziER 9 |k " 1" 1" BRIEE (5B

10| W 1 16:50 /1 B2 FEE 10K 1 1 1 R (SR

11|k " 1710 1 RBEREFT 11|& " 1320 | 17:00 |w5iEsE (4R

12| K " " ] KERR 12|

HBEARZL
13|&| » | 1550 o |lwexazee  ||13]8
1710

14| = 1 1550 EEsE G V|| 14| B| 74256 | 1320 | 17:00 |#Rum% (458

158 I 15:20 R 3 V| 15| W ] I I RIS (48R

16| RB| 74256 1650 | 1830 16| 2K 1 1450 | 1745 |#=8imE SR

17K » 1550 I 17| K I 13220 | 17:00 [wrUEz 4R

18| 7K 1 16:50 1 18|=& 1 1 1 R

19| K 1 1 1815 [zanx 19|

20|&| 16:00 I wutEassz ||20]|8

21(x 218 (EDB)

22| 8 22| N 74256 | 13:20 [BRIRESBAA

23|8| 4256 1650 | 1815 23| K 1 1" [BRIRESEME

2 N 15:50 1 24| K 1" 1 17:00 |p-7vntao-usi

25( K 1 16:50 1 25|&® 1 13.00 F=TINART=)L

26| K " 12:30 | 1545 [1z8ksa 26|t

27|®| I 1 s ||27]8

28|t 28| 8| 74256 | 18320 | 17:00 |37 FREEEE

29| B 29w m /) /) %)@E%ﬁ@ﬁ%%

30| 8| 74256 12:30 | 1545 |13z 30|x| » I )[R EREERE
31| % y ) ) %)@E%ﬁ%ﬁ%m

<@®I-2>
(%13-2)

=i
(7:20)
@ihdh
21
QT RET
(7:22)
QREF
(7:23)
B
(7:24)
(GEJ=]m)
(7:25)
@OEMED
(7:26)
(5] 4==N:n]
a2n
QRRIRINEG
(7:28)
10 ARIRTK
(729
iz
731
288
(7:34)
BFES
(7:36)
@chm
(7:38)
(BINEETN
(7:43)

($21-1

DFEEYY-7i
(7:40)
@@
(7:41)
QL—#
(7:42)
@LERRR
(7:43)
Gig
(7:45)
©Es
(7:48)
OFs
(7:50)
©@hHMA
(7:52)
Q/\Bak
757



